
Worksheet Solution: Cross Number 

Thanks to Idaho Fish and Game and Project WILD for their help and information. All of 
the lesson plans and activity sheets are provided by Idaho Project Wild. Permission was 
granted to use this material for educational purposes. 

Across Down 

A)   55,476 / 69 = 804 G)   (10 x 10) - 10 = 90 

B)   341 x 15 = 5115 H)   507 x 8 = 4056 

C)   9,777 - 9,763 = 14 I)   (76 x 112) + 49 = 8561 

D)   49 x 107 = 5243 J)   (15,000 / 30) + 34 = 534 

E)   (72 x 106) +1,770 = 9402 K)   (213 x 3) + (5 x 27) = 774 

F)   3 x a = 486 [a = 162] L)   (12 x 26) + 85 = 397 

  M)   29 = 512 

 


